Riding on the Keyboard Train %
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Riding on the Keyboard Train

(Bass A to G)
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(Low Bass A to G)

Riding on the Keyboard Train

b ! ‘uﬁ D
2 2 2 2 23+ 3 2 2 32
32 - ja b8
) P, ol lr, o2F F i
% = —fF——
o p M o ot 2 P |
- - o] —ra
y FSSSESSSSiassias A
()
7 = e e s = = T —
5 Tes3 3 < 4 3 3
. > > >
o e, P le, oL Pfreere, pfreere, ‘
S e 'i4 i 15533553
s o ST
F=gEimnsestieen
J 4 & o &

/\
s o2

PR
) F##WKE:DS;:%;

ol

S ==
el e el e e L T
G2 = e
IEI (Lowest Bass A to G)
7—, 7 =; = —
Ao < s
40 4 é
0 !jﬁi—— ljijf
{7 — — — v E——
5y > > > > = ./f. -F = ‘F
mp
I
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